12 Support wheel right KRRCHER

Professional \ Sweepers \ Ride-on \ Combustion engine \ KMR 1200 B \ Spare parts list KMR 1200 \ Individual parts \ Support wheel right

w

10

Valid on 05.01.2023 Page1l/2



12 Support wheel right KKRCHER

Professional \ Sweepers \ Ride-on \ Combustion engine \ KMR 1200 B \ Spare parts list KMR 1200 \ Individual parts \ Support wheel right

POS Article no. Description Quantity Unit
1 7.777-999.0 Stockpiling discontinued 1 PC
4 7.306-118.0 Screw M 6x35 -8.8-P2R (In6Rd) 1 PC
5 7.312-003.0 Washer 6 -200HV-A3E ISO 7089 1 PC
6 7.311-512.0 Hexagon nut M 6-8-A2E I1SO 7040 1 PC
7 7.343-001.0 Locking ring 10x1-Rf-St DIN 471 1 PC
8 6.905-788.0 Wheel 1 PC
10 7.777-999.0 Stockpiling discontinued 1 PC
2 7.304-417.0 Hexagonal head screw M10x30-8.8-A3E ISO 4 PC
7.311-006.0 Hexagon nut M10 -8-A3E ISO 4032 4 PC
11 7.312-160.0 Toothed lock washer A10,5-FSt-A3E DIN 6797 4 PC

Valid on 05.01.2023 Page 2 /2


http://www.tcpdf.org

